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Part A: Volume [G-GMD.3]

each person to have at [east 20 square feet of floor space inside a room.

1. Mr. Jones is inspecting rooms to determine their maximum occupancy. Building regulations require

For each room, select the appropriate sign Mr. Jones should hang.

2. Veronica is painting the 13%1&6%&1&8“% ceiling of i

Occupancy Occupancy Occupancy
not to exceed | notto exceed | not to exceed
25 persons 28 persons 30 persons
A circular room with radius 14 feet.
A rectangular room 17 feet wide and 30 feet long. v’
A square room with side lengths of 24 feet. v/
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The room is rectangular with length 10 feet, width 12 feet, and height 14 feet.

The room has a door which will not be painted that has dimensions 3 feet by 7 feet.
The room has no windows or other features on the walls.

1 gallon of paint will cover 400 square feet.

Paint is sold in 2-gallon containers.

Determine the mim'mum number of containers of paint she will need to purchase. Justify your
reasoning.
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Suppose two containers are constructed such that container A is a rectangular pyramid and container B
is a rectangular prism. Assume the two containers have congruent bases and the same height.

Container B is filled with water and then poured into container A.

Determine the percent of water from container B that it will take to completely fill container A. Justity
your reasoning. Cofepme/ P -

ﬂf}rmvm;sj Vot = ”%“b\v\ Prioms Uolme = B

W b‘“yjrm«-é = b“"efsm, fagn 4he m\\g i
v dillorence » He voelliciont md For Y”"‘Gmmaj
-3 4 I %)ﬁ\g, 7 e ok s f{"m

Wil ke 3.2

0o b Fluwed=¥X

x  333%= A Ly cotmne A

Lle wo= o Pyramid Prism

.,_“‘\\qgé
A %

Consider a second rectangular prism, slanted such that mZ4 <90°, height is still &, and the base is
congruent to the first prism’s base (shaded).

Select the statement that is true and justify your reasoning,.

A) As the measure of A4 decreases, the volume of the prism will increase.

C B) As the measure of Z4 decreases, the volume of the prism will remain th@
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C) As the measure of Z4 decreases, the volume of the prism will decrease.

Wﬁ’, af{}im\@ “@M gy POV S Voo Swie b md n M A
conskonk [ L, slond Waaght shamg 0} e Volme, ngmonass (g0 stont

Siuémm oLion conline A5
Lop-ails W@ﬂﬁb NG A CMWS | |
i v/ pnd o UWW"W\ ot Contpmes ong C&?:"%M’hﬂ@ Yo ‘\;)Mi iy

gt ond gk Stidenks olse

[y

o wWith yolumds QU\m@m Myedehing, volwels

SR T i
Tracy Unified School District — Updated February 14, 2020 —Page 2 {5 4 IELONMING Lo SR

Lo éé?ffiffiﬂ.%ﬂ Yadnl Wéwdwpkwﬁ




